China Convex Polygon Contest

Input file: standard input
Output file: standard output
Time limit: 1 second

Memory limit: 1024 megabytes

Kevin and Little Cyan Fish participated in the China Convex Polygon Competition Final (CCPC Final).
The online judging system features a statistic called “Last Success”, indicating who is currently the last
person to successfully solve a problem.

The competition lasts for m seconds and comprises n problems. Little Cyan Fish learned that Kevin
will solve a problem at seconds aq,as,--- ,a, after the contest starts. And it takes Little Cyan Fish
by1,ba,- -+ , b, seconds to complete each problem. Little Cyan Fish wants to devise a strategy (i.e. the
order of solving the problems and when to submit) that maximizes the duration for which he is the last
to achieve success.

Please note that:

e After finishing a problem, Little Cyan Fish is not required to submit it immediately. He can choose
to work on solving another problem in the meantime.

e Submissions and other operations do not consume time, allowing Little Cyan Fish to submit a
problem while completing another.

e If Little Cyan Fish and Kevin submit solutions at the same time, the Last Success is attributed to
Little Cyan Fish.

e The Last Success is empty when the contest begins and before any submissions.

Input

There are multiple test cases in a single test file. The first line of the input contains a single integer T’
(1 < T < 10°), indicating the number of test cases.

For each test case, the first line of the input contains two integers n and m (1 <n < 105,1 <m < 109).

The next line of the input contains n integers ay,ag,- - ,a, (1 < a; < m). It is guaranteed that a; < a;41
foralll1 <i<n.

The next line of the input contains n integers by, ba, - , b, (1 < b; < m).

It is guaranteed that the sum of n over all test cases does not exceed 10°.

Output
For each test case, output a single line contains a single integer, indicating the answer.
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Note

For the first test case, Little Cyan Fish can:

e Starting from second 0, complete the first task at second 1 and submit it immediately;
e Starting from second 1, complete the second task at second 3 and wait until second 5 to submit it;

e Starting from second 4, complete the third task at second 7 and wait until second 9 to submit it;

Starting from second 1, the Last Success is Little Cyan Fish, so the answer is 10 — 1 = 9.

For the third test case, Little Cyan Fish can:

e Starting from second 0, complete the first task at second 1 and submit it immediately;
e Starting from second 1, complete the second task at second 6 and submit it immediately;

e Give up the third task that can not be completed.

From second 1 to second 5, and from second 6 to second 9, the Last Success is Little Cyan Fish, so the
answer is (5— 1)+ (9—6) = 7.
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